s tubeComments.rar  Arabic sentiment for YouTube comments very large file I8 tubeComments.rar 499746673 WinRAR archive
. ’ tubeComments File folder
Prediction accuracy 23% .
nltk_packages File folder
google_api_python_cl... File folder
arabic_natural_langua... File folder

O First, install MongeDE frem MengeDB.com

https://www.youtube.com/watch?v=ckA1JWTBT4
https://www.youtube.com/watch?v=p-EdBcGuKuk
https://www.youtube.com/watch?v=s0Joygr Ilc
https://www.youtube.com/watch?v=7kLI1 mN_Uc
https://www.youtube.com/watch?v=9550dXEv41lk
https://www.youtube.com/watch?v=2ygKuOGyvfU

O ckA1IWVTBT4

. - p-EdBcGuKuk
input  |=| VideolD.bet seloygr Tlc

A

ZkLI1_mN_Uc
9S50dXEv41k
2ygKUOGyvfU
output
[%] RUN.analyze.bat

run

MmMenTs wer

83% accuracy



Below sample screen shots of model training using one GPU and i7 processor, it took around 16 hours

| & *Python 3.8.6 Shell” — O X | & *Python 3.8.6 Shell* - O X
File Edit Shell Debug Options Window Help File Edit Shell Debug Options Window Help
O3rwlbaa! r':—ﬁ—_‘il R PSR L PR P! rIJJ—"iI Pt oty I@@ 2 sample freguencies 2
P AE [ B "&?'], 'neg') sample frequencies
test data info sample frequencies
[ i I L R L T TR S Ly S SR E L R I e | sample fregquencies
e TR et i panyt Ly P - L I D T I E L I I [ I ] sample fregquencies
o1, "heg') sample fregquencies
test data info sample frequencies
(X XX XY, "siae™' ey 1 T um st s S0 00 L raeant, 0 sample frequencies
l'é', TEbgya it el 3L LT sley 'y heal) pelaall _paal, ", R SR - L sample frequencies
'plt '], 'pos') sample fregquencies
test data info sample fregquencies
3 sl tpyt, TIIT, @1, 'pos') sample frequencies
test data info sample frequencies
([t ettt ' plaat, 'ﬁ"], 'pos') sample fregquencies
test data info [('eiz") (2 ptEglpa ') (13, "pdpa) (1 ,"ast') (2 ,"aalxsy") (3, Lpoisy
(0@, @y, toaxyt ol oraaTr st Lt et taa et g, 1, lsdiay') (L1, Taesad') L (2, Syt L (4, T AR L (2, lst) L (2, ),
ot iR, v, R, ey, R, @1, 'posY) (2, ' Samiy’) (1 tasaaail") (2, Tgaanst) (1 Tt M) (1T piadn '), (1
test data info 1 ,'eotmarg') 01 tpat) L3, tswst) L8 e ) (L teamet ) (D SR,
t[lljljJ—.'l‘J—‘E—':_P‘J—i-"—-‘l#l I'I@I 1 I'I"'hl P R L L= rIP-"J—_'I tl"-t‘ 1, gatanao®) L (1 ,"ag8=") , (17 ,taiat) (4 rl‘(f,-":-‘lj—ul:l P (1t st) (2 IR AATRS
_Ltrl_lsled' ko' paleni'], 'neg') Ve 02 tetist) M1 tarasi))
test data info freqg of word 3 is 5550
(['yand' ,'egul® ,° TIPS TR I LR« KRR S Prpdiat s, freq of word 5 is 220
B LN L [ EF L ,'-_i.ull‘)_'ljl T R T ) ,'L'..S_;_-,a', ' freq of word » is 12655
plaa' ,'yada.'], 'meg') gize of training data: 47000
test data info min document fredquency: 47
(["ddpms' "ot "L ' die |, "de g o', "CPr1, 'pos') max document freguency: 46060
test data info 1%61 are kept out of 770508
([Maopos ,aals' " las', '@'], 'pos') 100 sample of selected features:
test data info ["3" o' palis' " JLe' ,"pasalst ,'E__,_.:' o'
t[la—c:—u‘l 'IL..'JI rILLj'I rID‘"—":I fI:—.'IIi' I@']r IPDSIJ "‘JJ'—*—."I rIPS—?—-"I rl@l tln_-‘?-*—L“‘—_‘l rlbijl rl = % - I
test data info L T L I N TIPS L e A T L LR A ST L
(_['._..—ﬁ" r'._';:_rl_cl\“' PR S-S L W I rlbi' T R P Ry SR LS P 'y I‘L‘L“‘—‘U"—"I PR T ypan 0T Tlplasl " Toaiw T r'@l r'._..—‘_' - E rl“';":—_‘lr
LI L ) llu-"J‘-R—‘_ L Y T Su PO | IIE,—_'J—‘—'._I P ll_:EE'“I]I 'pos') 'agyt lly—’”—I P TEET el g, |$|' 't ll‘-‘-*—q-__Jl lly—-'ll fl‘sj-cl-l POl T e
test data info Ji', |g|' Y liaady” 'uﬁu L ", ' vt ,agie Pl L tpdlet  tablae !
[[ui'_llutuju’ul:'_w-_-gulu‘_..jjutuy_‘-lu’us axt o, S'o, 'yt tEelast ' taeblas' ol , '#,3 PLENL NN S VL T 2 I PN LI N LR B TEE L o L N P P [ e, |g
s ','_,-'_",',_..3_1','@',"_: WYL sl Y, taEet L'yt L tEaget ' Let, @@.’ Yas' L'yt L, o ";'d—?g"'ﬁ"," L S, taast L ToLEt Lt s
"oty tdi st el 'neg') T B I - L L L T A AR ) '@.
I’ I._ﬁ__l .-lllld_ﬂlfll.'ﬁ.ll 'I- :I ’I-- 'l-'llll_l 'I -,I 'IP_'.I]
W W
Lm: 32 Col: 127 Lm: 509795 Col:0
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[ & Python 3.8.6 Shell

Eile Edit Shell Debug Options Window Help

O X

é}Ir Tiaust  Tguet gt '|$$| = T K €
O_’,lllu_mn_ll'l‘jh_uijl'|_-.._l'lld_.“l'ld__ull'lml
@I 'I.sJJ:_:UI Ly 'I.jJ_t_L_‘::._‘I rlua:._‘-J_“._l‘I 'Il_..JJ_._]'I rll_j‘[l
lll'.la:—?-‘lll':‘—#”—]lll‘t—uljlrl:—ﬂ-”—”lIIPJ-’_"—"IlIP-QJ—“IrI
Y et 'I"mjl PREYRT 'lJ_t_th‘{Jl 'I;-\‘_‘btl RLE L |é|' ey
R L = = rIEJ—b'I tlg—_‘J—_"-‘—“I plds ezt o8t T

generating features for documents
splitting documents into train and test
data set size 21083

data set: Countexr({'meg': 14335, 'pos': ©748})
train: Counter{{'neg': 11530, 'pos': 5336})
test: Counter({'neg': 2805, 'pos': 1412})
training HaiveBayes classzifier

training is done

accuracy: 0.893763338B664527

positive f-score: 0.84813559322033%9
negative f-score: 0.9183078045222465

Most Informative Features

contains t@} = True poOs @ neg
contains t} = Trus pos : neg
contains(:})) = True pos @ neg =
containst(}} = True P28  neqg
contains (i) = True neg ! pos =
contains t@} = True pos : neg
contains (%) = True neg : pos
contains t@} = True poOs @ neg
containst(j} = True neg : pos
contains t: = True neg : pos =
containst(}} = True neg @ pos
contains(stie) = True neg pos =
contains (Olxiia i) = True pos . neg =
contains ((kai) = True pos : neg =
contains (éilws) = True neg pos =
= True neg : pos =
contains t@} = True neg : pos
contains (| 4=53) = True neg @ pos =
contains t@} = True neg : pos
contains (pgiy) = True neg : pos =

>

[ "

L 'Ié

'-R!‘_]l', ~

P laiis g

’
LI P AL 'IP\-'=

»r '|$| :'a' e oy e

LR I T

1 1
P oplatty,

pyag’ A=l

[
oo ooo

1.0
1.0
1.0
1.0
v
Ln: 67 Col 4

[ & *Python 3.2.6 Shell* - O X
File Edit Shell Debug Options Window Help
training is done - I A
Most Informative Features
has (gisw) = True pos @ neg = 238.5 1.0
hast@} = True neqg pos 202.0 1.0
nas () = Trus neg : pos = 171.3 : 1.0
I - Trus pos neg = 170.1 1.0
has () sdlwy) = True posS @ neg = leg.9 1.0
hast@} = True neg ! pos = le4.2 1.0
has (byait) = True pos @ neg = 151.4 1.0
has(aals53) = True pos nedg = 143.9 1.0
has (<) = True neg : pos = 143.6 1.0
hast@_} = True neg jal=F] = 132.4 1.0
has (caw it) = True pos neg = 118.4 1.0
hast@} = True pos neg = 11&.5 1.0
= True neg :opos = 113.3 1.0
has (Harain) = True pos neg = 100.5 1.0
has (cosy) = True neg : pos = 100.2 1.0
has(la,) = True neg : pos = 98.8 1.0
has (duas) = True neg : pos = 97.4 1.0
hast} = True neg pos = 97.3 1.0
hast@} = True neqg pos = 97.2 1.0
hastH_iE_ij} = True neg : pos = 94,7 1.0
hast@} = True neg pos = 81.9 1.0
hast@} = True neqg pos = 91.3 1.0
has(:() = Trus neg :opos = 87.5 1.0
hast@} = True neqg pos = 85.0 1.0
has(fwowd) = True neg : pos = 82.4 1.0
has(sL3; ;1) = True pos neg = 82.3 1.0
has (4x=33) = True neg : pos = T9.5 1.0
= True neg :opos = 78.8 1.0
has (i) = True neg : pos = T8.1 1.0
has (Lwilial) = True jal=F] neg = 74.9 1.0
hastﬁﬂ} = True neg pos = T1.3 1.0
has (ki) = True pos neg = T0.7 1.0
hast@} = True neg pos = 67.5 1.0
has (43..3) = True pos neg = 67.5 1.0
hast@} = True neg jal=F] = 66,7 1.0
hast@} = True neg pos = 66.0 : 1.0
has (psasit) = True pos neg 62.9 : 1.0
has(gl.s) = True pos nedg = 62.1 : 1.0
has(diislws ) = True pos neg = 6l.6 1.0
nas (¥9) = Trus pos neg = gl.0 1.0

0.89132839T75831844
0.89132839T75831844

accuracy:
accuracy:

v
Lr: 509795 Cok 0
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has (4.u) = True neg

: pos

| & *Python 3.8.6 Shell®

| Eide Edit Shell Debug QOptions Window iﬂ;ﬂp
tZaining is done
Hzae Informacive Features
has{jipi) = True
Eaa (@) = Tzue
hu:l;@j = Trys
_ } = Trus
has (! play) = True
has(§8) = True
BAS(byat) = True
ha::,:_:;_'._.] = Trus
nas | Se] = True
Ras () = True
has funa §1) = Trus
Eaa () = Tzue
hasfuypnli) = Trus
BN ) - True
has (ot y) True
has(jay) = True

AaE|iag) = True
has l;@j = Trus
has (@) = Tzue

has(ppoliy) = True
ha_-lt@] = True

haa (3] = True
ham{i{] = Trus
hasiigw) = True
has | bagas) = True

pos @ oneg
pos @ neg
neg 1 pos
o8& - neg
pos : neg
neg : pes
nefd @ pos
pos ¢ neg
F=¥ : neq
neg @ pos
pos = oneg
neg = pos
neg & pos
neg = O3
neg : pos
neg @ pos
neg - pos
neg @ poa
neg @ pos
neg @ pos
neg @ pos
neg & poE

- 238,58 ¢
- 02,0
- 171.3%

- ITO.1 =

= 166.% :
= 164.2

= 151.4 ¢

- 143.9% :

- 143.6 =
= 132.4

- 118.4 ¢
= L16. 5

- 113.% ¢

- 100.5 =

= 100.2 =

= 98.8 ¢
= §7.4 &
- 7.3
- 297.2
= 4.7 &
= 81.%
= #l.3
= B7.5 &
- 25.0
= B2.4 :

e
(= =]

nas (pgoisy) = True neg

: pos -

94.7

: 1.0

has (dealiay) = Trus
ha_-lt] = True
hl#i.'-h-l:l = True
hn.:l;ﬂ.'lj = Trus

has {ase.§) = True
has (@) = True
has((5)) = True

RAf [{pidl ) = True
ha5|¢¢¢41 = Trus
has [iiilas it} = Trus
has (§F) = True

- T4.B :
- 71.3
= TR.T &
- €7.5
- &67.5 =
- 6.7
- EE.0

£2.% @
- £2.1 :
- 6l.6 =
- 61.0

1.0
1 1.4
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